03

32

06

24

40

36

-+ 9 = 20+ 5
4 = 16 + 4
= 7 = 7+
+ 3 = 12 = 6
= 8 = 40 + 5
1 = 27+ 9
~ 6 = 12 = 3

https://cms.oklab.ed.jp/preclass/index.cfm/1, html [HIFTH H AGEA) TR E 2=

32

36

47

4 =

H =



47

20

63

= 7 = o = 1 = 48
~ 5 = 08 + 4 = 49
= 9 = 27 = 9 = 20
= 2 = 0 + 6 = 24
- 8 = 4 = 2 = 16
+ 3 = 8 + 1 = 54
= 6 = 0 + 5 = 42

https://cms.oklab.ed.jp/preclass/index.cfm/1, html [HIFTH H AGEA) TR E 2=

?

6

06



12

28

36

~ 3 = 18 - 6 = 20
~ 1 = 21 = 7 = 6
~ O = 55 — O = 13
~ 8 = 6 ~ 2 = 3
~ 4 = 42 = 77 = 49
~ 9 = 24 - 6 = 49
~ 2 = 6 ~ 1 = 14

https://cms.oklab.ed.jp/preclass/index.cfm/1, html [HIFTH H AGEA) TR E 2=
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